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Time : IHrs, Sem - V17 Areh, Ass,
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Full Marks : 70
Pass Marks : 28

IS 4362000 15 allow ed to use anly linnt state method,

IS 6Ys 456--2000 &1 YA Rhal o e 2
$dcl e ¢ RR @ waly »l)

Answer all 20 questions from Group A, cach question

carrviex I marks.,

u-A 8 Wl 20 4T B G < HeAG WA b1 HE 1 3w 2|

Answer all Five questions from Group B, cach question

Corries 4 HI'{H'JI{.'-‘.

Yu-B 9w dig wEl @ gov 2, gold uw w1 4T 4 da

Answer all Five questions from Group C, cach question

cenrries 6 merks.

gu- C 2 ef) din gel & 9aw @, WAld W 61 6 dik

A pewts of o greextion mst he answered ar one jlace in

segrience, otherwise they may not be evaluated.
i W2t & el SRt Fow wa O wiie (et sen 4)
HE B L D L TR B ) B TH IR A LA
The frazove i right fand mare i idreate inaks,

arf med & oy |;\l:|f.ﬁ i NGL] |

P.1.0
https://www.sbteonline.com

WO UIUOII( 5" MMM/ ."Sdlll.{

1637602 2 NTO083

GROUP-A

1. Choose the most suitable answer from the lollowing

U]'\Liun:& :

Ix20=20)

vaifts Sugw RAwcy & gaae fad -

( In simgly remforeed beams, steel reinforcement
1s provided in
A Tensile zone
(b) Compressive zone
(¢) Both tensile and compressive zones
(d) None of these

h ud g fewm 4 yafeg avm 4 e
PEGICEC A I C ) S y fha
Wrdr 2 |
(31) araywa &=
(1) wdreT a7
(®) a-magad g9 wdsT <Al &=
(€) 379 9 &Ig T8 |

(il Shear reinforcement 1s provided n the form
] IO
fa) Vertical surrups
(b) Inclined bars
Combination of vertical stirrups and
inchined bars
(d) All of the aboy ¢
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& Udeldbeu 1 wgea

& wa A fdar wien

(@1) wed wy

(4) 8 we

(W) $ud ¥y vd Riks vl &)
Ay wy o

(8) Sudax uH) |

The minimum pereentage of longitudinal
reinforcement in R.C.C. column is ...........
(a)4

(b)2

,(ftffo.(}

(d) 0.8

yaferd "€WT ddlc W 4 U9 oS
&1 gFaw gfaera ear 2

(?ﬂ) 4

({ ) U' O
(€) 0

In the Hmit state method, the partial salety
Factor Tor steel is takenas o

(a) ).05

b) .15

(¢c) 1.50
() 3.0

https://www .sbteonline.com P.T.O
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e e AR A g & fay alfe
& BIRS BT A AR

(31) 1.05

(@) 1.15

(|) 1.50

(®) 30

The minimum percentage of high yield
strength deformed bars provided ina R.C.C.

slab 15
‘m{;ﬂ

(b)0.15
(c)0.12
(d)0.20

yafera e ewe ufear § swa amed
Q"r:.-i qreft B8 B =gran gfaeradar g
(aqj 40
(9)
( }
()

-l

£ H
‘:}C)C :
I'-.J.._.

Dog legued stairs are designed as ................
(a) Onc way slabs
Two way slabs
(¢) Cantilever slabs
(d)y None of these
https://www.sbteonline.com
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Sin g Ny w1 B wu A
ANb 1 [wa anan

(&) v fRen A B yfea

(/) & R A b ufa

(@) sguxd ufem

() &7 Q@ Hg |

Shear walls are made of ...
{a) Brick masonary
(b Plain conerete

/K‘}’Rciniln'ccd concrete

(d) Nonc of these

HAd AR . D B E
(@) ge fumrg

(@) WIERY @B

(@) wafaa @wie

(@) 399 ¥ @l¢ A

For carthquake resistant construction.
building leneth should not be more than

() Two times its width
Sour tnmes s wadth
(¢} Three times ks width

(ddy s wadih

P.T.O
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(Vi) qpmR)efy Frafu g ford)
q 3y

(1x)

(1%}

(%)

N1tk

el l}J'I' ‘.1;4;,
N i!] IT ] r”h JII'
(@) 0 wers o VN
! tﬁ"@[‘s‘ $ dqIy JLIJ“
N
GlE| oy

Precast conereteis
(2) Made in a controlled environment
(b) Properly cured

(¢} Monitored by plant cmplovees

).«H’ﬂll of the above

NEHe FdC o

(31) v fFrafa ararawer & aear 2

(@) Sugaa 1 4 SuailRd fea s
2l

(q) <iie d Al B <@ @ A a7
2l

(g) Suriat Wl |

The analysis of slab spanning in one duecin

L
is done by assuming it o be a beam of

(a) Im length

(1) Im width

(¢ lm- arca

() None of these
https://www.sbteonline.com
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(d) Indian Standard Long Channel
(|) Indian Standard Lincar Channel
() g4 A/ @I 9d)

Lack of ductihty 1s knownas oo
tu) Fatigue

7 Bnttleness

() Hardness

() None ol these

[x1v)

; 1637602 1637602 ; NT6083
ufRam, o e R N RenlRa @ 6 i) T B IAE B dEd @ L
RAa 90 ) ueel e e %) wfen
v siian 2y (@) Reaiu
(1) 1Mo ctrard (1) dald
@) 1Mo aterd () 7 4 P13 7
(F) 1Mo awd o .
[E.') s__‘ﬂ_ Q I'Hﬁ Sy | (xiu The centre m_ccnl.t‘c distance between any
wo consceutive rivets measured parallel
= to the direction of force is called ...
ISLC mecans .. = (a) Gauge distance
);.»Hmli;m Standard Light Channel E (b) Ldge distance
(b) Indian Standard Long Channel z Pitch of rivets
(¢) Indian Standard Lincar Channel ; (d) None of these
(d) None of these r;n’
S, (xiii)  BREIG FA B {90 B wHrIAR Q@
ISLC &1 arcgd & — E dMaR Slddl & B § o< @ 47
(31) Indian Standard Light Channel g £l & B i, BER E

SIRERAY

(@) femer <&

(4) Sldal &1 Ny
(@) g7 @ #g 7

The strength of hand driven shoprivets is
coeeeeennn. than field rivets.

(a) More

(b) Less

(¢) Same

PTO (d) None of these

https://www.sbteonline.com https://www.sbteonline.com
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(xv)

(xvh

(vl
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g TIferd 9T Aaal a1 |amed &
ofadl & wmed A gy 2
(31) st

Two structural members may be temporarily
connected by
(a) Welded connection
Muitud connechion
(¢) Riveted connection
() None ol these

A AN EHST bl eedrd wu i
.............. q L1 o "Hada @)

(3) AT Wi

(3) Sies WS

(M) s s

(@) 371 @ &1F T |

The mmimum size of tilicrweld s
(a) 2mm

(Y Imm

(el 3mm

(e Tem

' i P.T.O
https://www.sbteonline.com

WO UIUOII( 5" MMM/ ."Sdlll.{

1637602

(xvi)

(xvit)

(%vii)

{xvii
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fde des & 7ay arer
Bl 2

(31) 2mm

@) Imm

() Smm

() 10mm

The arc welding produces a temperature of
about ...

() 3000°C

(b) 3200°C

(c) 3400°C

(d) 3600°C

e fesT |/ emr
Y1 & wrar @

(31) 3000°C

() 3200°C

(|) 3400°C

(&) 3600°C

.. dT9HH

Welded structures are comparatively ...
than riveted structure.
A Lighter
(b) Heavier
(¢} Less rigid
(d) None of these

https://www.sbteonline.com
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A Ao BY /
S eidl ) ey R
(@) T
ORI
(@) ®4 353
(@) 379 @ &1 T |

Steel in which carbon content is more than
2% 18 known as

(a) Carbon steel

{b) High strength carbon steel
(c) Fire resistant steel

},Casl steel

gaurd, forad ard= 9w 2% @
(&) = 3a

@) 9o wmed FEA 3ard
(|) aftq ufirieh s
(<) ST I |

Rolled steel tubular sections are designated

(a) Its inside diameter and self weight
(b) 1ts outside diameter and self weight
(¢) Its solid diameter and sclf weight
(d) None of these

P.T.O
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o Qe g @ gqFAR Bl B s
A P faan o 2l
L’ﬂ) @ aredR® @ yd W@l @1 AR
(a):r-{a%aﬁﬂmmqa'wdaﬂm
(6) 51 o @ U wd & IR
(3) 3 ¥ g
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GROUP B

Answer all Five Questions.

4x5=20
wfl ufg g @ SR Q|
}- What is the necessily of providing shear
reinforcement ?
4

https://www.sbteonline.com



WO UIUOII( 5" MMM/ ."Sdlll.{

NTH0RD 1 1637602

\"I-JJ

bt WA Y @ @ apavgag g 2

OR (312441)

What ave different types of limit states of design ?

I B fvias araven AR & Af=;
YbIR g1 & ?

What do you mean by balanced section ?
Hfdd @ 4 amg Far wus & ?
OR(31244d1)

What 1s the function of transverse reinforcement

m i coluymn ¥

1.0
https://www.sbteonline.com
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wnl A arjuver Ydellmevr & @ar & @ 2

What arc the general principles of carthquakc

resistant building construction ?

YauRie wae fafor & A Rigre

FYT & 7

OR(372raT)

Differentiate between one way and two way slab.

UHaveT gfedr vd giaver afedr 4 3ary |Ww
B |

What are different types of structural steel ?

fafir Q&N & eranTd W a1 & ?

https://www.sbteonline.com
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OR(3rexan) GROUP - C

Answer all Five Questions.
Compare between lap joint and butt joint. 6x5=30

i gfg uwy @ SR 2

Ay A @ 98 Wis § R WK W |
7. A simply supported R.C.C. beam 240 mm wide and

What d by effici farivet ? effective depth 450 mm is reinforced with 5 bars of
~ What do you mean by efficiency of a rivet ?

A

20mm dia in tension zone. Qut of these, two bars

are bent up near the support. The shear force at

PIAS B cEdl 9 Y FqT GHSA & °

support is 160 KN. Design shear reinforcement for

the beam. Use My concrete and Fc - 4135 stecl,
6

| U 3o ¥Hlo Hlo YFTafad ax 240mm IS
What are the defects in welding ? qoT 450mm G TERTE A 2| axE @
a3 A 20mm @A B Ui Bs AME T ©.
T 1 wel & N @ g ST faar aal
2| AMER W o 9o & 7 160 KN &, @l

OR (31rdr)

WO UIUOII( 5" MMM/ ."Sdlll.{

afesT & Hfeai 7 & ?

oA & v ecq gdes &1 afreeyst ST
Mo BT Tl Fe - 415 ¥el BT AdeR N |

P.T.O
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8. Design a two way slab supported on all the four
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1637002 N NEFOON S
OR (31247
( K Sm N dm HhIN B B bl gl AN T
#1 A A4 @Y, R R s
A rectangular beam section is 200mm wide and &1 AMpeust G, RDid g f® I+

ASUmm deep upto the centre of reinforcement. arelfaa {1 ufear & sl @) ybgny

Determine the main reinforcement required, if it vl a2 aun e andMa i 4 KN/
has to resist a factored moment of 50 KNm. Use

3 BT Ud Fedls gaura yai oY |
M3 concrete and Fe 415 steel. €1 Mg ®#IC U I N

50 KNm $aed areef @9 200mm €12 aern
350mm gAT TR JATMER =GR we B fag
TGS e Gfaaer sma R | My Fate
Ud Fedl5391d &1 Iualy &3 |

OR (3121a1)

A square column of 300mm side carries an axial

WO UIUOII( 5" MMM/ ."Sdlll.{

load of 800 KN. Design the column using Mo

concrete and Fe 415 stee]

edges of a room 5m x 4m in size. The

superimposed working load is 4 KN/m? and 300mm qOIT a1t UF Qe Wy u SO0 KN

corners are not held down. Use My concrete &1 AN TR &R BR VG 2| W Bl
and Fe 415 steel,

6 3By iﬁ‘lmzﬂ b1 Ud Fe 415 e
BT UGN G |
P.T.O
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0, Design a dog legged staircase with the steps on

winst slab for floor to floor height of 3m and width
of flight equal to 1.20m carrying a superimposed
load of 3 KN/m?. The stair slab is spanning
transversely. Assume other data suitably. Use

M concrete and Fe 415 steel.

e I e W &1 afrweya &, s
RY I W9 R &, 57 ¥ vl 9t S
3 flo 3X garge A AlerE 1.20 Wo & T
foraur 3 KN/m? &7 Jea_ifda W &rdva 21|
W &1 Wy g B Fqued fawm A
fawaRa & 1 a1 Iugaa siips W@ A1 o |
Moo ®@le a2 Fedls WA &1 9T & |

OR(32ran)

Desiyn a one way slab having dimensions 4m x 9m,

P T.O
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\;

simply supported at the ends. The live load may be
CN/m?, Use Mg conerete and Fe 415
taken as 1.5 KN/m=. Use My concrele ‘

steel. https://www sbtconline.com

e e § da uftur &1 3Afbcud X, o)
QR 2F R R & ¢d A9 4mx 9m 2 |
|qofd WR 1.5 KN/m? feran &1 aaer @ | Mg
H@Ic Td Fe 415 T &1 9T W |

Design a riveted lap joint to connect a plate

115 x 10mm with the flange of a column. The joint
should be designed to develop full strength of the
plate. Take permissible shear stress in rivet

(tyg) =90 N/mm?, permissible bearing strength of
rivet (op) = 270 N/mm? and permissible tensile

stress in plate (o) = 150 N/mm-.

UH & @ gelSl A 115 x [0mm Qe &)
WreH & fad g, Rads Au ulg w

https://www.sbteonline.com
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AP &Y | e @1 yul goed grg e
v WIS &1 Afwcud &= 2| e 4

IATY el ufdad (1)) = 90 N/mm? 31917
T | (6) = 270 N/mm? a2 A=+

a4 faEad (o,) - 150 Nimm2 94 o |

OR(312141)

Describe different major category of loads acting

on any structure.

Pl 2 W &d & arl RAf yaw
® Uq@ qdl &7 avfq @ |

Two plates of size 200mm x 12mm and

200mm x 14mm are 1o he 1oined by butt weldine

Find the strength of the joint, if

(1) 1tas Tully penctrated {
]

https://www.sbteonline.com
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(i) it s partially penctrated.
Fake permissible tensile stress in plate

(o) 150 N/Anme.

200mm x 12mm a1 200mm x l4mm 31 g
el el qg dfesn & wiler siren &) g
&1 wmed wra e Al

(i) 3/ gofa: ot fRar T &l

(i) 38 siera: AQr TIT B/ |

Qe ¥ Fgar=a a1 9fagal (o) = 150 N/mm?
qH o |

OR (312141)

_AHow the sirength of fillet weld and butt weld is

determmed ? Write the steps for design of fillet

weld,

fhds dec du 48 deg @1 el D B
oxd 2?7 e des @ 3l ey H Wy
feqed |

L LI
P
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